
������������������������������������
��

�
	������������
��� 
���������������������������������������������������������������������������

�
	������������
���
����������
 ­�������������

�������������­���
 �­�����­	�������������������­����  ��
�������������������������������������
��������������������������������������������
����
�
��	��������������������������������������������
�������������������������������������������������������������������������
�����

�������������������������������������������������������������������
�
���������������
������������������������������������������������������������������������


������
������������������������������������������������������������
�������������������������
������������������������
�����
���������������������������������������������������������������
�	������������������������������������������������
��
�����������������������������������
�������������������������������������������
�����������������������
� ���������������
����������������������������������������������������������������������������������������������������������������
����������������������������
�

­������������������������������������������������������������������������������������������������������������������������
������
������������������������������������������������������
����������������������������������������������������
�

����������������������������������������
���
���������������������������������������������������������������������������
���
�����������������
�


����������������
 ­������
	�������������������������������������������������������������������������������������
���������������������������������������������������������������������������������������
�

	�������������������������������
������������������������������������������������������������������������������
������������������
�����������������������������������������������������


 ������������������������������������������������������������������������������

­��������������������������������������������������������������������������������������������������������������������

	�������������������������������������������������������������������������������������������������������������������
����������������������������������������������������������������������������������������������������������


��� 	����­��­���
���������������������
��������������������������������������
�����������������������������������������
��
��������������������
�����������������������
��������������������������������������������������������������������������������������
�
�����
�����������������
�������������������������������������������
� ������������������������������������������������������
���
���������������������������
�������
������������


��
�������­��
���������������������������������������������

����������������������������������

��	����������


�­������
	��������������������������������������������������������
�������������
����������������
�����������������������������������������������������������������������������������������
���������������������������������������������������������������������������


��������������������������������������������������������
��������������������������
����
���������������
����������
��������������������������
������������������������������������
��������������������������������
�

�­������
��­������ �������­���­���� �����

���­���������������� ����������� � ­��­����������

���� ����­�������­�����­������­� � ��� ������	��
������­� � ��� ­�����­�������
������ �������������������������������� ���­������­�� ����­������ ������� ­��

���­��­�����­	��­����� ����­������	 ��������­��­������������� ­���­���������

����������­����������

���� ���­�� ���­��­���­­������­���

��������	�������������������������� �������������
�

!

x2

	���������������������������������
�����������������������������������

��������������������������������
���������������������

�­��­�����­	�
�� �������­���� ��


������
������������������
�������������������������������
�������������������������������
���������������������������


�������������������������������
�����������������������������
������������������������


�­����������������������������
�������������������������������������������������
����������������������������������������������
�����������������������������������������������

2mm Drill bit
12mm CSK

��
������­������������
����

�����������������������������������������������


���������������������������������������������������������������������������������������������������������������
�������������������������������������������������������

���������������������
���������������������������������������������������������������������������������������������
���������

���������������������������������������������������������������������������������������������������������������
����������������������������������������������


��������
����������
����

��������
�
�����
������

��������������� ������

������������������������
�����������������������
��������������������


��������������������������������������������������������������������������������������
����������������������������������������

��������������
�������� ��������
�����������������
��������
�����������������
��
�����



�
	������������
��� 
���������������������������������������������������������������������������

������������������������������������
�


1!

 ����������������������������������������������������������

�����������������������
�����������������������
���������������������


����������������������
��������������������������
��������


����������
��������������������


2!

3!50kg �������������

�����������������

­�������
��­�­�������	­�


 �­�����­�������

����
����� ���

������
������������������
��
�����
�������������
�����������������������������
������������
��������
���������
��
�������������
��������¡�����������������
����������
���
��
��������������	�������­����
	������������­��������
�������������
���
�����������
�������	������������������������
����������������������
��������������������������

���	�� ���

����������������������������������������������������������������������������

�������������������������������������������������������

��������������������������
��������������������������������������������������������


������������
������������������������


������������
�����������������������������������
���������������������������
�����
	��������������������������
�����������
������������������������������������������	���

 ������������������������������������������������������������������������


���������������������������������������


��������������
����������������������������������������������������������
��������������������������


����������������������������������������������������	����

������������������������������������������������������������������


����������������������������������������������������������������������������������
�����

�����

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

PLEASE SCAN HERE:

���	�����­���

���

 �� ���� ���� ������� ����� ����� ����� ������������ ����� ���
���������� ������� �������� ��� 
��� ���� ��������� ������� ���
��������������������
�

���������
�������������
����������������������������������
­�����������������������������������������


��������
�����������
��������������������
��
��������������

��
� ����������������
������
�����������
������������
��
���

����� ���� ����� ����� ������� ��� ������� ������������ ����¢���
����� ����� ����� ����������������� ���� ������������
�������




������������������������������������
��


���������������������������������������������������������������������������­�����������	������	����������������	��

8

Some steps within this set of instructions come with an added video guide for your 
convenience. These can be accessed via the QR code and used to aid you in constructing that 
step. See below for how to use.

You can also �nd all the videos on our youtube channel:
 https://www.youtube.com/@merciagardenproducts8716/videos 

ACCESSING VIDEO GUIDES...

1.Find the QR code within the instruction step...

2. Open camera app...

3. Scan QR code...

4. Watch the video...

On your personal smart device (phone, tablet etc), open your camera app or QR code scanner 
app.

To scan the QR code, hold the camera over the QR code so that it can be seen on the screen. 
Once the QR code has been registered, follow the prompts on your device to open the video. 
(This will vary depending on your device.)
Please note: Ensure to use the back camera of your smart device as this will scan the QR code more 
accurately.  


 �­�����­�������

The video guide will now be displayed on your smart device. 

Parts Needed-  No. QTY 1 
     No. QTY 1 
     No. QTY 1

Step..... 
 �­�����­�������

Within the instruction step, there will be an icon in the top right that has a QR code in. This 
is where the video can be accessed from. 
Please note: not every step has a video guide. 

Disclaimer: The garden building constructed in the video guides may be 
constructed di�erently to your building. Please ensure to read your instructions 
carefully to avoid error. 

ACCESSING VIDEO GUIDES...




���������������������������������������������������������������������������

������������������������������������
��

Playhouse Options:
Take a look at the di�erent playhouse options below which refers to the instruction 
lea�ets required to build each option.

5x5 Playhouse With Half Glazed Door, 
Tower & Slide
SI-002-001-0007

5x5 Playhouse With Half Glazed Door, 
Tower, Slide & Swing
SI-002-001-0008

02DTSHAX05051W-V1-PEFC  (Playhouse)
02DTTWR6565-V1-PEFC (Tower)
02PATINCSWA-V1-PEFC (Swing Set)

02DTSHAX05051W-V1-PEFC  (Playhouse)
02DTTWR6565-V1-PEFC (Tower)

5x5 Playhouse With Framed Door, Tower & 
Slide
SI-002-001-0024

5x5 Playhouse With Framed Door, Tower, 
Slide & Swing
SI-002-001-0025

02DTSHAX05051W-V1-PEFC  (Playhouse)
02DTTWR6565-V1-PEFC (Tower)
02PATINCSWA-V1-PEFC (Swing Set)

02DTSHAX05051W-V1-PEFC  (Playhouse)
02DTTWR6565-V1-PEFC (Tower)

5x5 Playhouse With Boarded Door, Tower 
& Slide
SI-002-001-0024

5x5 Playhouse With Boarded Door, Tower, 
Slide & Swing
SI-002-001-0025

02DTSHAX05051W-V1-PEFC  (Playhouse)
02DTTWR6565-V1-PEFC (Tower)
02PATINCSWA-V1-PEFC (Swing Set)

02DTSHAX05051W-V1-PEFC  (Playhouse)
02DTTWR6565-V1-PEFC (Tower)

5x5 Playhouse With Half Glazed 
Door, Tower & Slide

5x5 Playhouse With Half Glazed Door,  Tower, 
Slide & Swing

5x5 Playhouse With Framed Door, 
Tower & Slide

5x5 Playhouse With Framed Door, Tower, Slide & 
Swing

5x5 Playhouse With Boarded Door, 
Tower & Slide

5x5 Playhouse With Boarded Door, Tower, Slide & 
Swing

Model Build Instructions Required




���������������������������������������������������������������������������

������������������������������������
��

Before assembly  
please make sure you have a 

suitable base ready to erect your 
building 

 

MADE IN GREAT BRITAIN

Overall Dimensions:
Width = 1984mm 
Depth = 1923mm 
Height = 1625mm

21

4

5

3

6

8

7

9

Ladder Step QTY 4
PRO2758-390mm

Corner Braces - 44x58x762mm QTY 8
F4458-G-802mm (762mm �nished length)

Front Post - 70x70x1625mm QTY 2
PI-04-0017

Rear Post - 70x70x900mm QTY 2
PI-04-0018

Additional Items required for Slide:

Front Saftey Board QTY 1
PI-03-0204

Side Safety Board QTY 
PI-03-0203

Slide Framing - 75x75x555mm QTY 1  
F7575-555mm

12

13

14

11

Small Rail QTY 1
AI-02TCR416X543-V1

Part not required if purchased slide

Platform QTY 1
AI-02TB1470X1983-V1

Large Rail QTY 1
AI-02CR1331X543-V1

Ladder Side Right - 27x95x1365mm QTY 1
PRO2795-1365mm

Ladder Side Left - 27x95x1365mmQTY 1
PRO2795-1365mm

10
Ladder Block - 44x44x372mm QTY 1  
F4444-372mm

Slide QTY 1
PI-10-0001Building Content:

60mm Screw x 2

50mm Screw x 33

40mm Screw x 24

30mm Screw x 8

150mm Screw x 8

100mm Screw x 19

Nail Bag




���������������������������������������������������������������������������

������������������������������������
��

Pre Assembly

Before assembling remove the transportation blocks from the bottom of each panel.

Take care removing the blocks as to not damage the panels. Tap with a �at headed 
screwdriver and hammer.

Dispose of the blocks once removed.

PLEASE SCAN HERE:

8
150mm 

screw

Step 1
Parts needed -           &

Place the platform (No.1) face down 
on a level surface, place the two rear 
posts (No.8) in the two corners 
shown. Secure with 150mm screws 
directed through the platform into 
the end of the post.

Ensure the platform is supported 
throughout the construction 
process.

4 x 150mm screws

1

1

8

8

1 8
1! 2!Pre drill 

hole

Step 2
Parts Needed -           &          &

Place a corner brace (No.7) up 
against the platform (No.1) and 
the rear post (No.8) Ensure that 
the corner brace is sitting from the 
post and the platform. If you do 
not ensure the correct angle the 
platform may be out of square. 

Once you have the correct angle �x 
the corner brace to the platform 
and the base using a 100mm 
screw.

2 x 100mm screws

7
100mm 

screw

7

871
1! 2!Pre drill 

hole

Step 3
Parts needed -      

Measure the distance from the edge 
of the corner brace (No.7) up to the 
post from both ends, both 
measurments should be the same. 
Make a note of the exact 
measurment and you can then use 
this as a guide for all the corner 
braces.

Pencil mark where the corner braces 
should sit based on the measurment 
already taken.  Fix a further three 
corner braces using the same 
method as above.

6 x 100mm screws

100mm 
screw

7

7

7

7
1! 2!Pre drill 

hole




���������������������������������������������������������������������������

������������������������������������
��

Step 4
Part needed -           &         & 

Place the front post (No.9) next 
to the rear post (No.8) ensuring 
the end sits �ush with the 
platform (No.1) and make a 
pencil mark on the front post 
where the rear post �nishes.

Make sure you do this for both 
front posts.

981

9

1! 2!Pre drill 
hole

9

Step 5
Part needed -          &            

With some help, tip the platform 
(No.1) on it’s side. Place the front 
post (No.9) within the cut out on the 
platfrom, make sure the pencil mark 
lines up with the top of the platfrom 
framing. 

Once you are happy the front post is 
lined up correctly �t a 150mm screw 
through the post into the platform, 
do this from the two available sides 
ensuring the screws are staggered 
and do not clash.

2 x 150mm screws

150mm 
screw

1 9
1! 2!Pre drill 

hole

871
Step 6
Part needed -           &           &   

Use the measurment taken 
previously for the corner braces 
(No.7) and using a pencil mark out 
where the corner braces need to sit 
on the platform (No.1) and the front 
post (No.9)

Fix the two corner braces in place 
using 100mm screws.

4 x 100mm screws

100mm 
screw

7

7

1! 2!Pre drill 
hole

9

Step 7
Parts needed -          &

With some help tip the platform 
(No.1) round to the other side. 
Place the remaining front post 
(No.9) within the cut out on the 
platfrom, make sure the pencil 
mark lines up with the top of the 
platfrom framing. 

Once you are happy the front post 
is lined up correctly �t a 150mm 
screw through the post into the 
platform, do this from the two 
available sides ensuring the screws 
are staggered and do not clash.

2 x 150mm screws

150mm 
screw

1 9 1! 2!Pre drill 
hole




���������������������������������������������������������������������������

������������������������������������
��

1
Step 8
Parts needed -          &           &

Use the measurment taken 
previously for the corner braces and 
using a pencil mark out where the 
corner braces (No.7) need to sit on 
the platform (No.1) and the front 
post (No.9)

Fix the two corner braces in place 
using 100mm screws.

4 x 100mm screws

100mm 
screw

7

7 9 1! 2!Pre drill 
hole

Step 9
Part needed -           

With some help tip the platfrom 
(No.1) the right way around 
ready for the playhouse to be 
assembled.

Fix the �oor sheet provided in 
the playhouse directly to the 
platform not to the �oor joist. 
Follow the steps on the seperate 
set of instructions to construct 
the playhouse.

20 x 40mm Screws 

40mm 
screw

1

1

1! 2!Pre drill 
hole

50kg 

Once you have �nished constructing the 
playhouse you can now continue to 
�nish the tower.  This particular 
playhouse has been used for illustrative 
purposes.




���������������������������������������������������������������������������

������������������������������������
��

Step 10
Parts needed -           

Place the large rail (No.2) 
between the two front posts 
(No.9) ensuring the front of the 
rail �nishes �ush with the front 
of the posts. Fix the rail in place 
with 8x50mm screws.

8 x 50mm screws

50mm 
screw

2

1! 2!Pre drill 
hole

50kg 

2

9

9

4
5

6

Step 11
Parts needed -           &            &

To construct the ladder ensure you 
pre-drill all holes and using 
16x50mm screws attach each step 
(No.6) to the ladder sides (No.3 & 4).

16 x 50mm screws

50mm 
screw

4 65
1! 2!Pre drill 

hole

If slide is purchased, 
position the slide on the 
opposite side to the door 
as shown in the diagrams.

1! 2!Pre drill 
hole

50kg 

Step 12
Parts needed -  

To position the Ladder Block 
(No.10), measure 27mm from 
upright. This is where the block will 
be �xed wth 2x60mm screws. 

2x60mm screws

60mm 
screw

10

10




���������������������������������������������������������������������������

������������������������������������
���

Step 13
Part Needed -           

Place the ladder between the 
front post (No.9) and the 
playhouse left hand side rail. 

Ensure the ladder �ts �ush 
with the post and the 
playhouse rail, �x in place 
using 4x50mm screws as 
shown.

4 x 50mm screws

50mm 
screw

9

9

1! 2!Pre drill 
hole

50kg 

If slide is purchased, position 
the slide on the opposite side 
to the door as shown in the 
diagams.

Step 14
Parts needed -                   

If you have purchased the slide 
skip this step and go straight to 
step 14.

If you have not purchased the 
slide then this is your �nal step.

Place the short rail (No.3) 
between the front post (No.8) and 
the playhouse side panel. Fix the 
rail in place with 5x50mm screws.

5 x 50mm screws

50mm 
screw

3

3 1! 2!Pre drill 
hole

50kg 




���������������������������������������������������������������������������

������������������������������������
���

Step 15
Parts needed -                

This and all further steps are for when 
a slide has been purchased.

Attach the slide framing (No.13) to the 
side of the platform with 3x100mm 
screws level with the top of the platform.

3 x 100mm screws

100mm 
screw

Note:

We recommend applying an impact reducing 
surface around the base and slide, also a 2 
Meter safety perimeter should be set up 
around the building free from obstacles and 
potential hazards.

13 1! 2!Pre drill 
hole

50kg 

If slide is purchased, 
position the slide on 
the opposite side to 
the door as shown in 
the diagrams.

13

Note if �tting slide

1.  Please keep this instruction sheet safe for future reference.
2.  Inappropriate use or faulty application of the product is explicitly forbidden and absolves  
 the manufacturer of all liability.
3. The assembly must be done by an adult.
4.  All elements of the item should be inspected regularly for eventual wear.
5.  This product meets to all safety aspects of the European standard EN71. It is only suitable  
 for domestic use, both indoors and outdoors.
6.  The product must be installed onto a playframe that is suitable for this activity (e.g.  a   
 wooden tower). The assembly must be carried out in such a way that head, �nger and   
 clothing entrapments are excluded. In order to prevent clothing entrapments during   
 gliding, there should be no openings around the platform between 3mm and 25mm. Pay  
 special attention to the boards of the platform onto which the slide is mounted.
7.  When mounting or assembling the product attention should be given to minimum required  
 distance between the product and eventual obstacles: walls, fencing,... The distance should  
 be minimum 2000mm.
8.  In this safety area no hard, angular or pointed objects should be present. The surface   
 underneath the product should be �at and shock absorbing, so no asphalt, concrete   
 or any other hard surface.
9.  The product must be mounted onto a suitable platform (see point 6) and only in accordance  
 with the recommended platform height with a tolerance of approximately  50mm (see notes  
 at the rear of the slide). The assembly must be done with 5mm or 6mm gauge countersunk.  
 The ground level surface must be su�uciently stable to avoid subsidence and to ensure that  
 the slide does not get damaged.
10. It is strongly advised not to lift the slide from the bottom after it has been �xed to the   
 platform.
11.  To avoid the heating up of the product, do not orient the sliding surface towards the sun.
12.  Sliding can cause a small electrostatic charge. This can be avoided by not wearing synthetic  
 fabric  clothing and/or by regularly cleaning the surface of the slide with water and soap.




���������������������������������������������������������������������������

������������������������������������
��


Step 16
Parts needed - 

Position the slide (No.14) on top 
of the platform and the slide 
framing (No.13), ensure the slide 
is pushed right up to the slide 
frame and �x to the platform with 
2x40mm screws.

2 x 40mm screws

40mm 
screw

14

4! 

1! 2!Pre drill 
hole

50kg 

14

If slide is purchased, position 
the slide on the opposite side 
to the door as shown in the 
diagrams.

Step 17
Parts needed -             &

The safety boards (No.11 & 12) 
are positioned to block the gaps 
on the tower’s rails and stop 
entrapment when going down 
the slide. Fix them in place using 
4x30mm screws per board.

8 x 30mm screws

30mm 
screw

11 12
1!Pre drill 

hole

4!

12

11

2!

50kg 

It is ESSENTIAL that you apply wood treat-
ment immediately after the building has 

been assembled.

AFTER TREATMENT:
score around protective

 cover on glazing and
 carefuly peel

 covering back

��������������������
Want to share your experience with us? 
Leave us a review on Feefo, TrustPilot or Google.

Your reviews help other people �nd and trust our 
business, as well as helping to play an important role 
in our growth and improvement! 



�����������������
���
�����������������������������������������������������������������
����������������
����������������������������¢����������������������������������������������
����������������

	�����������������������
�������������������������������������������


�������� ���� ������ ��� �������� ����� ���� ������� ��� ���������������� ��� ���� ������
��������������������������������


������� �� ���� ���� ��� ������ ����� ������� ��������
�  �� ���¢��� ��������� ������� �����
��������������������
���������������
�

������������������������������������������������������������������������������������
��������������������¢�����������������������������������
���������������������������
�
������������������������������������������������������


����������������������������
�������������������¢����������������������
�

¡������������������������������������������
���������������������������������
���������
��������������������������������������������������������������
�����������������������


����� ���� ����� ��� ���� ��������¢�� ����� ����� ������ ��� ����� ������� ��� ���
���� ������ ����
�������������������
���������������������������������������������
�����������������������
�������������������������������
����������������������������������������
�������������
���� �������� ����� ��� ��� ��� ����� ����� ���������������� ���� ����� ���� ������ �������� ��������
£���������������
� �����������������������������������
�

�������������������������������������������������������������������������������������������
�������������������������������������������������������������������������
�

����� ����� ���� ��������� ���������� ���� ������ ��� ���� �������� ������ ����������� �������
���������������������������������������������


���­�����������­�	������ 	���

������
������������������¢����������� ���
����
��� ���������������������������������������������������������� �����
�����������������������������������������
���
�  ����������������������������
�����������������������
�������������������������������������������������������������������������
�­�����������������������������������¢
��������������
����������¢��������������������������
�����������������������������������������������������������
����������������������������������������
�����������������������������������������������������������������������������������������
£����������������������������������������������


	���������������������������������������
���
������������������������������������������������������������������������������
�����������������

�����������������������������������������������������������������
�����������������
 ������������������������������������������������������������������������������
���
�����������������������������


����������­������������­�	������ 	��� 
���������������������������������������������������������������������������

­

 �����	����­�����

����	�­�� �
­�����­����� �


 �­�����­����������
�������­��������	���

������������������������������������
���

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

PLEASE SCAN HERE:



��������	�	��­�����­��� 
���������������������������������������������������������������������������

­����������
���������������������
 ��������������������������������������������������������������������������������������������
������������������������������������������
���������������������������


�����������������������������������������������������������������������


��������������
��������������������������
���������������������������������������������


��������������


�����������������
���������������������������������������������������������
�

�����������������������������������������������


�� ���������������������¤���������������������������������������


�������������¡��­��������­����	���������­��������������� 	��������­��­¢­�	


��������

��������������������������������������������������������������������������������������������
��������������������
����������������������
�����������������������������
�����������������
�����������������������������������������
���������������������������������


������

 �������������������������������������������������������������������������������������
����������
������������������������������������������
�����
������������������������������������������������
�����������������


����

���������������������������������������������������������������������������
� �����������������
������������������������������������
�

	��������������

���������������������������������������������������������������������������������� ���
����
���������£�����������������������������������������������������������������������
�������������
�����


���

��������������¥������
���������������������������������������������������������


��������������

 �� �����
����� ������������� ��������������������� ������������ ���������������� ����
����� ����
�����������������������������������������������������������
���������������������
������������ �������� ���������� ��� ������ ���������� ���� ������������ ��� ���
���� ��������
������������������������������


����

��� ���������������������
�� ��������������� �������������������������� ��� ����
�����������
���
���������������������������������������������������������


­�����

���������������������������������
������������������������������������������������������
�������������������������������������������������������������
���������������������������
�
����������������������������������������������������������������
�

�������
�������������
�������������������������������������������������������������������������
���������������������
����
��������������������������������������������������������������
���������������������


������������

 ����������������������������������������������������������������������������
���������������
�������������������������������
������������������
�������������������������������
�����
����������������������
���������
����������������������
������������������������������
������������������������������������������
��������
����������������������������
�����������
��������������������


1

2

3

4

5

6

7

8

9

������������������������������������
���



­����������������������������������������£�����������������������

���������������������� ������ ������������ ��� �������������������� ������������
����������������
������������������� ����������������������������
��������������
�������� ��� ���� ������� ����� 
����� ���������� ����� ���
������� ��
�����������
����������������������� ������� ��� ���� ����������� ������� ���������� �������������
�����������
� ��� ���� ����������� ���� ����� ���������� ���� �����
� �� �����
�������������� ���������� ����� ���� ������ ��� �������������������� ������������ ����
�����������������������������
��

 ����������������������
�������������������������������������������������������
���������������
�������������
����������������������������������������������������
������� ����
�  �� ���������� �¦��� ����� ����� ���� ��� ����
�� ���� ����� ��� ����� ���
��������� ����� ���� ����� ��� ���
���� ��������� ������� ���� ��� ����
�� ���� ������
������


	�����������������������������������������������������������������������
����������������������������������������������������������������������������������
����������������������
�����������������������������������������������������
����������������������������������
� ����¦����������������������������������������
����������
�

��� ���
���� ���� ��������� ��� ���������� ��� ���������� ���
���� ���� ����� ���
�������� ��� ����� ��������� ����� ����� ����� ��� ������ ��� ������ ���� ������ ���� ���
���������
� 	�� ����� ��
���� �������� �������� ���� ��� ����� ������ ��� ����� �������
������������������������������������������
������������������������������
� �����������
������� ����� ������ ��� ����� ������� ����� ��������� ��� ���������� ������ ���
����������� �������� ��� ����
�� ��� ���� ��� ���
���� ��� ����������� ������ ��� ��¦�
�������������������������������������������������������


�������� ������� ���� ������ �� ���� ���� ������� ������ ������� ���� ������� ��� �����
��������������������������������������������������������������
���������������
������������������������������������������������
����������������������������������
�����������������������������������������������������
��

������������������������������������������������������
�����������������������������������
� ��������������
����
����������������
��������������������������������
������������������������������������������
����
� ������
����
����������������������������������������������
�����������������������������������������������������


�������������������������������������������������
��������������������������������������������������
��������������������������
������������
��
���

�­���­������¤����������	­�����

���������������������������������������������
���������������������������
�����������
����������������
���� ��������� ���������������
�	�����������������������������
���������������������������������������������§���������¢


�����������������������������������������������������������������������������������
�
�
� ���� ��������� ������� �
������ ���� ������ ��������� �� ���� ��� ���� ������ ����
���
�������������������������������������������������


	����������������������������������������������������������������������������
���
���������������������������
�������
������������
�

�


���������������������������������������������2

������������������������������¦�������������������������������������������������
��������������������������������������������������������������������������������
��������


	��������������������������
��������������������������������������������������
������������
�������������������������������������������


���������������������������������������������������������������1

­¥������������������

­����������������������������������������������������������������������������������
����������������������������������������������
����������������������������������
��������������������
����������������������������������������������������


����������������������������������������
���
���������������������������������������
�����
���������������������������������
�����������������

��������� �������� ���������� �� �������� �� ����������� ���������� ��� ���
���� ������
�������

���� ������� ��������� ������� ������ �� ���� ��������� ���������� ���� �������� ��
������
���
�����������������������������


	�� ����� ���������� ������ �� �������� �������� ��� ���� ������� ���� �������� ��� ����
�������� ��� ����� ��� ��������� �¦��� ��������� ���� ���������� ��� ������ ����� ����
�������
�

�������� �������
������ ������� ��� �������� ��������� ���� ��������� ��� ������
�����������


3

4 ���������������������������������������������

������������������������������������������������������������������������������
����������������
������������������������¦�����������������
�


���������������������������������������������������������������������������

���������������������������
�����������������������������������������������
����������������������������������������������������������
��������������������������
��������������������������������������������������������������
���������
�������������
����������������������������������������������������¢������������������������������
�����
�����������������������������������������������¨

��
���
��	
���	�������

������������
������������
���������
����������

��������������������
���
������������
��
����

������������������������������������
���



�����������������

­�������
��­�­�������	­�


 �­�����­�������

�­��­����­�	���­�­�����

������������������������������� ������������������ �����������������������������������
���������������������

�������������������������
�����
������������������������������������������������
���
����


����������������������
������������������������������������

�
�����������������������������������������������������������������

�
�������������������������������������������������������������������

�
��������������������������������������������������������

�
���������������������������������������������������������������������������
��������
����������������¢�����������������
�
�
� � ���� ��������� ���� ���� ����� �������� ��������� ��� ��� ���� ���� ������������¢��
����������������������������������������������������
������������������

�
�����������������������������������������������������������������������������������������

�
� � ���� ��������� ���� ���� ����� �������� ��� �� ��������� ��¥��� ����� ������ ������ ��
���
��������������������������������������������������������

©
�������������������������������������������������������������������������������������
�������������������������
��������������������������������������������������

ª
��������������������������������������������������������������������������������������
��������������������������������

��
������������������£��������
����������������������������������������������������������
������������������
�
��
� � ���� ������� ���� ����� ����� �������� ��� ���������������� ����������� ������������ ���
�����
��������������������


������������¤����������1 2 ­�����������������

������� ������� ��������� ����� �� ��� ����� ��������� ���������� ��� ���� ���� �������� ���
��������������������������������������������������������������������
����������������
��
������������������������������������������������������������������
�
��� 
�������� ���� ����������� ���� ��������� ����� ��� �������� � ���� ��������� �������
������������¢�������������������������������������������������������������������
�������������������¦��

��������������������������
�����
������������������������������������������������
���
����


�����������������������
������������������������������������

�
����������������������������������������������������������������

�
�������������������������������������������������������������������

�
��������������������������������������������������

�
����������������������������������������������������������������������������
��������
����������������¢�����������������
�
�
� � ���� ��������� ���� ���� ����� �������� ��������� ��� ��� ���� ���� ������������¢��
����������������������������������������������������
������������������

�
� � ���� ��������� ���� ���� ����� ��������� ������� ��� ���������� ��� ���� ���� ���������
������������

�
� � ���� ��������� ���� ���� ����� �������� ��� �� ��������� ��¥��� ����� ������ ������ ��
���
��������������������������������������������������������

©
�����������������������������������������������������������������������������������
������������������
��������������������������������������������������

ª
�������������������������������������������������������������������������������������
��������������������������������

��
� ����������������� £��������
������������������� ���������������������������������
������������������������
�
��
� ����� ������������������������������������������������ ��������������������������
�����
��������������������



���������������������������������������������������������������������������

������������������������������������
���


